Math 2

Unit 3 — Rational Exponents and Solving Quadratics
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Lesson 5 — Discriminant & Quadratic Formula

% Solve the following equations by factoring.
«» Graph the equation.
1. x24+4x—-6=0 2. x?+6x+9=0 3. x2+4=0
4 k a
I
| T . I
IR N Il AR
; VAR / i T
oA - . S S — = —
i - [-.“ | 1 = | '
1 ey YL, 4 | | .
%5 7 1 5 ¢ T | v-ol-")-?- 3 C:
'[, = — - )| ST S TP —1 ] et - i A=t
—— ‘ P 4 l
- g — - ol - —i- <4 - 4 i i
o 8., =24 .1* 5 ‘ | 5 !
CROBEY EEmH N

-

Number of Solutions:
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» Quadratic Equation: @2 +bx+c= ﬂ

> The Discriminant:

b?% — 4ac
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v The discriminant is used to determine the number and type of solutions (roots) o
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quadratic equation.

% Using the same three examples from above, find the value of the discriminant and describe the roots.
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Value of the Discriminant: b? — 4ac

Number and Type of Roots

What does the graph look like?

b2 —4ac>0

bZ — 4qc is POSITIVE and a PERFECT SQUARE
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% Classwork: Find the value ofghe discriminant and state the number and type of roots.
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» Solving Quadratic Equations using the Quadratic Formula

\Dtm
_\p Tl

ax?+bx+c=0

__ —b++Vb?-4ac

X
2a

Examples: Solve using the Quadratic Formula - x =

-0

~b +Vb?% — 4ac

The Quadratic Formula is used to solve any quadratic equation, especially those that will not factor.
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